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A WRINKLE IN TIME

TEST ANSWER KEY LEVEL e

1 1,2,3,7and 8

2 1A 2B 3C 4A 5C 6A 7B

she was frightened
did not sleep well
are hard to

in a boring class

sent her to the

o O h W N -~

isn’t coming

4 a He is at Meg’s school.
b He is two years older than her.
¢ He is not like his parents or brothers

and sisters.

S5 1a 2a 3c¢c 4b 5c¢c 6a

6 1 Suddenly 2 After
3 Then 4 Without
5 Back

7 1 fight 2 ago
3 being 4 mustn’t
5 again 6 darker

8 1 gift 2 faults
3 hate 4 patient
5 braver 6 pocket

9 1 a It has the CENTRAL Intelligence
Center for the planet.
b The factories never close.
c IT lives there.
2 a There was a large hall.
b People were sitting and waiting.
¢ All the men were wearing the

same clothes.

11

12

13

14
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16

17

18

19

20

Model answers:

There was another person or IT in his body.
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d 2d 3a 4¢c 5d 6b

butit-didn’thurt and it hurt.
shert-and blond long and gray
friend enemy; enemy friend
under-her-eyes on her nose,
lightand-het dark and cold

car’t can

walked

was

turned
was shining
was pulling were

looked

o O AN

saw

f 2d 3¢ 4a 5b

F 2T 3DS 4F 5T 6DS
I know that you were frightened.

People think that I'm stupid.

I thought that you couldn’t talk.

I'm happy that he’s here.

I'm sure that it’s OK.

Meg felt that she was going through

a glass wall.

b 2a 3a 4b §b
worried 2 interesting
frightening 4 surprised
materialize 2 faults
intelligence 4 bounce
brain 6 platform
shine

10 1 from 2 were 3 did
4 my 5 must 6 of
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